§2.1 Equations and Linear Equations
Properties of Equality
Reflexive Property – A number equals itself


a = a

Symmetric Property – The equal sign is commutative
If a = b, then b = a

Transitive Property – Substitution



If a = b and b = c, then a = c


Example:
Name the property



a)
x  +  7  =  z, then z  =  x  +  7



b)
x  =  B  and B = 5z,  then  x  =  5z



c)
B = B

Definitions Important to Equations
Equation – Equality of two expressions (must have an equal sign)
Expression – A constant, variable(s) or product of var and constants or the sum of afore 

                      mentioned (no equal sign)
Constant – A number

Variable – Letter representing a number

Numeric Coefficient – A number multiplied by a variable

Term – A part of a sum (constant, variable, variable times a constant – must be separated by 

               addition/subtraction)
Like Terms – Terms which have the same variable portions

Degree of a term – The sum of exponents in a term (constants have degree of zero)
Solution (Set) – The number(s) that make an equation true

Equivalent Equations – Two or more equations that have the same solution set


Example:
For the following fill out the table giving the numeric 

coefficient, degree, and putting a star by the like terms

	Term
	Numeric Coefficient
	Degree
	Like Terms

	5
	
	
	

	5x
	
	
	

	-2xy
	
	
	

	3x/2
	
	
	

	2(x + y)
	
	
	

	¼ x
	
	
	

	12x2y3z
	
	
	


Expressions Simplified
1)  Distribute as necessary

2)  Add numeric coefficients of like terms

3)  Rewrite as a sum of unlike terms


Example:
Simplify



a)
½ x2  +  5y  (  1/3 x2  +  3y



b)
2(x  (  5)  +  3x



c)
½ (x  (  y)  (  ¼ (x  +  3)  (  ½ y

Note:  Watch yourself when distributing negatives!


d)
x2  +  5x  +  5

Addition Property of Equality
Add the same thing to both sides and the equations are equivalent.  This allows us to move terms from one side of the equation to the other.




If a = b,  then a + c  =  b  +  c


Example:
If   x  (  5  =  7, then x  (  5  +  5  =  7  +  5

Multiplication Property of Equality
Multiply both sides by the same number and the equations are equivalent.  This allows us to isolate the variable (remove the numeric coefficient).




If  a  =  b, then ac  =  bc


Example:
If    1/5 x  =  2, then 1/5 ( 5 x  =  2 ( 5

Linear Equation in One Variable
A linear equation in one variable has the following form.  A linear equation in one variable can have one, no or infinite solutions (to be discussed more later).




ax  +  b  =  c

a,b,c ( ( and a ( 0

Solving Algebraic Equations
1)  Clear equation of fractions or decimals

2)  Simplify each side of the equation (distribute and combine like terms)
3)  Move the variable to the "left" by applying addition property

4)  Move constants to the "right" by applying the addition property

5)  Remove the numeric coefficient by applying the multiplication property

6)  Write solution as a solution set or variable = #


Example:
Solve the following and give the solution set in roster 

form.



a)
a  +  5  =  9




(focus on 4)



b)
2x  +  3  =  x  (  3



(focus on 3 & 4)


c)
2(y  +  3)  =  8  +  y


(focus on 2 - 4)


d)
5z  =  125




(focus on 5)



e)
2(c  +  5)  (  3  =  2(c  (  3)  +  2c  +  1    (focus on 2 - 5)
f)
½ g  +  2/3  =  5



(focus on 1)

Note:  Find the LCD and multiply each term by that to remove fractions.


g)
0.5x  +  0.25  =  1.2


(focus of 1)

Note:  Note the largest number of decimal places and multiply each term by a factor of 10 containing that number of zeros.


h)
1/3 (y  (  5)  =  ¼ 



(focus on 1)
Note:  In my opinion it is generally easier to simplify any distributive properties before clearing the equation of fractions or decimals.


i)
0.25(x  (  0.1)  =  0.5x  +  0.75

(focus on 1)

Two Exceptions
Contradiction – Instead of variable = #, a number will equal a different number, making 

    a false statement.  This means that there is no solution.  

    ( or {} is the solution set.

Identity – Instead of variable = #, a number will equal itself or variable will equal itself, 

     making a true statement.  This means that there are infinite solutions.

     ( is the solution set.

Conditional – An equation with only one solution, variable = #, is considered 

            conditional.


Example:
State conditional, contradiction or identity and give the 

solution set.



a)
c  +  5  =  c  (  5



b)
2(a  +  1)  =  2(a  (  5)  +  12



c)
2(a  +  1)  =  2(a  (  5)  +  12  +  a

Note:  It is a common error when working with contradictions, identities and conditional equations to give the answer of {} when the equation is truly conditional with a solution set of {0}.

Substitution Word Problems
The key is to write out what the variables in the equation mean, just as I ask you to do every time you solve a word problem.

Example:
See #78 p. 125 of Angel

a) n = 1, W = ?
b)  n = 2, W = ?
c)  W = 30, n = ?
d)  W = 40, n = ?

Solving for Variables when More Than One Exists

Focus on variable!! (highlight the one that you are solving for)
Focus on isolating the one variable!!!


What is added to (subtracted from) the one variable of focus



Undo this by addition property (adding the opposite)

What is multiplied by (what is it divided by) the one variable of focus



Undo this by using the multiplication property (mult. by reciprocal)

Example:
Solve for n

2(x  +  5)  +  n  =  4x  (  8



Example:
Solve for (

(( (  +  ()  =  (

Example:
Solve for (

((  (  (  =  (
§2.2 Problem Solving & Using Formulas
A formula is a mathematical model that explains something in real life.

A mathematical model is an expression or equation that explains something in real life.

Formula can be solved for one of their components which is what makes tehm useful and they can be evaluated to give real life data.


Some useful formulas
Geometry Formulas:


Area Of
Rectangle

A = l ( w




Square


A = s2



Trapezoid

A = 2h(B1  +  B2)




Circle


A  =  (r2



Triangle

A  = ½ bh


Perimeter of
Rectangle

P = 2l  +  2w




Square


P =  4s




Triangle

P  =  s1  +  s2  +  s3



Circumference of Circle







C  =  2(r  =  (d


Volume of
Rectangular Solid
V  =  l(w (h




Cube


V  =  s3



Cylinder

V  =  (r2h




Sphere


V  =  4/3(r3



Square or Rectangular Pyramid







V  = 1/3 l(w(h

Evaluation gives you information for an everyday situation.


Example:
What is the area of a 12 by 9 foot room?


Example:
What is the amount of fencing needed for a square 

pasture with side length of 21 m?


Example:
What is the amount of air needed to fill a basketball with 

a diameter of 9 inches?

Note:  In your exercises, you will be given the values of the variables and you will evaluate in #7-24, and in #67-76 word problems will give you the information and you will need to use the appropriate formula, just as you did in the above examples.

We will also solve formulas for variables, making them useful for finding other information present in the formula.

Use the process discussed in §2.1

1)  Focus on the variable

2)  Focus on isolating

  a)  What is added


i)  Undo using the addition prop.

  b)  What is multiplied


i)  Undo using the multiplication prop.


Example:
Solve the following for the variable specified



a)
5  +  y  =  9x
;
y



b)
2x  (  y  =  3;  y



c)
2(x  (  5)  +  2y  =  9;  y

Note:  You need to distribute before attempting to solve if the variable being isolated is within the parentheses.



d)
Ab  +  Bc  =  D;   c



e)
G  =  9h (a1  +  a2) ;  h

Note:  The number below and to the right is called a subscript; used to denote a different but similar entity.



f)
K  =    m  +  5  ;  n





      n



g)
K  =    m  +  5  ;  m





      n



h)
G  =  9h (a1  +  a2) ;  a1
Let's do a word problem to show you what I expect from word problems.  This is a two-step problem!


Example:
#74 p. 88

§2.3 Applications of Algebra
We will be covering the following specific types of problems and combinations of these types of problems.  Word problems are easier if you can pigeon hole them.  This is my purpose in pointing out the types.  The second key to a word problem is to be able to pick out the main idea and the question that is to be answered.

Geometry Problems


Complementary & Supplementary Angles ( ('s )



Complementary ('s – Sum to 90(


Supplementary ('s – Sum to 180(

Example:
#1 p. 99


Angles in a Triangle ( ( )


Sum of all ('s in a ( = 180(

Example:
#5 p. 99


Percent Increase/Decrease


Original Price =  O

(Usually the unknown)



Percent Decrease  =  %O
(Change % to decimal)



Paid  =  O  (  %O = given #
(Usually given)


Example:
#8 p. 100


Linear Equation Problem


Baseline =  Given


Cost per Use  =  ($)(unknown)



Total Cost = Baseline  +  Cost per Use


Example:
#12 p. 100

Note:  This problem is a little trickier than the basic problem because the total cost is the product of the variable and the value per trip, and there is an equality of the trip with activation (baseline) and trip without activation.


Multiple Translation Problems


2 translations in two unknowns, but they are related



  * Create 2 equations



  * Substitute one into the other



  * Results in 1 equation in 1 unknown


Example:
#21 p. 101

More Geometry
  *  Involves known geometric formula

  *  Can involve multiple translations

  *  A picture can help


Example:
#33 p.102

Average Problems

  An average is the balance point of data.  It does not have to be a whole number.  It is found using the following formula.




Ave =   ( numbers  






      # of

Special Notes about Averages

  *  The average is always a number smaller than the largest

  *  The average is always a number larger than the smallest


Example:
#49 p. 103

§2.4 Additional Application Problems
Again we will be working with a pigeon holing process.  We have 3 types of problems in this section.  They are:


Distance Problems

  D  =  R ( T

D = distance;  R = rate;  T = time



There are several scenarios that will occur in these types of 

problems, but if we read carefully, use a table and consider the 

information given and how it will fit into the formula given.

Example of Distances Sum & Time as Unknown & Same(notice time is what you are asked to find)




#3 p. 110

Example of Distances Equal & Time as Unknown & Relation




#10 p. 110


Example of Distances Sum & Rate is Unknown Relation 

(Notice that rate is what you are asked to find)



#7 p. 110


Example of Times Sum & Distances are Unknown but Same (Notice that the distance is are not known, but it is the time that you are interested in finding.  This makes this the most difficult problem because you are fooled into believing that time is again the variable.  However, we will use the distances to model the time, since t = d/r, and once we find the distance we can calculate the times.)





#9 p. 110

Work Problems


These problems are very similar to distance problems, since   W =  R ( T


Example of Work Sum and Times Unknown and Related




#11 p. 111

Mixture Problems

These are linear equation problems.  They have two or more products that sum to a given or calculatable (another product).


Examples of mixture problems are simple interest, fare problems and chemistry or grocery type problems.


Example of Simple Interest
I = PRT  where Interest = I is the calculated product and the sum of the interests gives the equation.



#32 p. 112


Example of another Simple Interest Scenario (more common)


Suppose that you are given the above information from problem 

#32, but instead of being told that the interests are the same you are told that the total interest earned on both accounts is $600.  This is truly the more common scenario.

Example of Mixture of Ingredients (grocery store type, 

chemistry/medical)



#17 p. 111




#42 p. 113

Note: How many quarts in 100 are butterfat, is what the percent butterfat represents.  So, to find the quarts of butterfat in 400 or in x we multiply the percentage by the # of quarts of milk and the total (sum) of butterfat in the two types must be the same as the butterfat in the new mixture (a product of the new mixture's % and the sum of the two amounts being mixed).

Note2:  There are several types of problems within the mixture problems.  They involve the product that we have already discussed and a sum of the Principles (in our example low + high = total money invested) in the simple interest problems and the Amounts (in our example lbs. kona + lbs. amaretto = lbs. and amt. 5%  +  amt. 1.5%  =  amt. 2%) mix in the grocery/chemistry problems

Example of Fare Type Problem (Just think of the linear eq. problems in the last section).




#36 p. 113

Note:  The hours sum in this problem (job 1 + other job  =  total hours)

§2.5 Solving Linear Inequalities
Review of Graphing Inequalities (Optional depending upon need)


Interval Notation



Indicates the solution set of an inequality and the inclusion of the endpoints.  This is similar to roster form for the solution set of a linear equality, but unlike a linear equality a linear inequality is all real numbers between two points or beginning at a point and traveling out to negative or positive infinity.  Endpoints are the beginning or end of the solution set.  They are either included or not included in the solution set of an inequality.  When graphing the solution set of an inequality we used either open or solid circles or parentheses and brackets.  The parentheses and brackets (used by the Lial text) are what we need for interval notation.  An open circle or a parenthesis indicates that the number is not a part of the solution set.  A solid circle or a bracket indicates that the number is a part of the solution set.  When graphing simple inequalities, we can get a solution set that travels out to negative or positive infinity (-(, ().  Infinity is an elusive point since you can never reach it, therefore in interval notation we always use a parenthesis around infinite.


Summary


Endpoint included

[   or   ]



Endpoint not included

(   or   )



Negative Infinity

(-(


Positive Infinity

()


Visually Relating to the Number Graph of an Inequality



x  >  5


Will be graphed with an parenthesis (open circle) on 5 

and a line to the right with an arrow on the end showing that it continues on to infinity.






Interval Notation

(5, ()



-2  (  x


Will be graphed with an bracket (closed circle) on 5 

and a line to the right with an arrow on the end showing that it continues on to infinity.







Interval Notation

(-(, -2]



-1 <  x  (  5

Will be graphed with an parenthesis (open circle) on 

-1 and a bracket (closed circle) on 5 and a line in 

 between.






Interval Notation

(-1, 5]

Review of Set Builder Notation


Description of the set using braces, vertical line and simple or compound inequality.



{x | x > # }



{x | x < # }



{x | # < x < #}


It is assumed that x ( (

Example:
Express the following inequality in the following ways




a)  using a  number line




b)  using interval notation




c)  using set builder notation





-2 ¼  <  x  (  3

Solving Simple Linear Inequalities (x  ( a or x > a)

1)  Follow the same procedure for solving a linear equation


a)  Addition Property of Equality


  i)  mover # to right


  ii)  move the variable to the left


b)  Multiplication Property*


  i)  Multiply by the reciprocal of the numeric coefficient

*If multiplying by a negative the sense of the inequality reverses, which means that inequality symbol flips around. (a < becomes a >)

2)  Graph, give the solution set as indicated


Example:
Solve, graph and give the solution set in interval notation



a)
5x  (  2  >  3



b)
2(5  (  3x)  (  22

Note:  Be cautious of the inequality reversing.  To see why it does, let's solve this problem in a different manner.

Solving Compound Linear Inequalities
1)  Move constants from middle to the outsides

  a)  Add opposite to right side of the compound inequality

  b)  Add opposite to left side of the compound inequality

2)  Remove the numeric coefficient*

  a)  Multiply the right side of the compound inequality by the reciprocal
  b)  Multiply the left side of the compound inequality by the reciprocal

*If multiplying by a negative the sense of the inequality reverses, which means that inequality symbol flips around. (a < becomes a >).  Unlike the simple inequality you have no choice but to remember this rule!
3)  Graph and write the solution set as indicated


Example:
Solve, graph and write the solution set in both interval 

notation and set builder notation.



a)  -1  (  x  (  5  <  9



b)
3  <    -x  (  5    (  6
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An alternate way of doing any compound inequality is to treat it as an intersection (and) of the middle to left and the middle to right.


Example:
#89 p. 129

Note:  This problem would be very difficult if treated in the manner that we have been doing problem.
Note2:  Don't forget that this is the intersection of these two parts

Recall that:


Mathematical "OR" means union (all members of sets together)


Mathematical "AND" means intersection (overlap of members)


Example:
Graph the following and then give the solution set in 

interval notation



a)
c  (  2       or     c  >  -3



b)
d  >  0      and    d  (  5



c)
2k  +  5  >  -1       and     7  (  3k  (  7



d)
2a  +  3  (  7        and      -3a  +  4  (  -17

Word Problems & Inequalities

at least ( (

more than (  >


minimum (  (

maximum  (  (

between (  compound in standard form  (  small <  x  <  large


Example:  #69 p. 127


Example:
#75 p. 127


Example: 
# 79 p. 128

§2.6 Solving Equations & Inequalities with Absolute Values
Let's do some thinking about absolute values for a bit.  | a | means a without its sign, therefore the absolute value is always greater than zero if a is either larger or smaller than zero and if a = 0 then the absolute value is still zero.  So, this leads us to the question:




Can | a | ever be negative (less than zero)?


Example:
| x |  <  0
has no ( solution since there is no number that will ever make this a true statement since the absolute is never less than zero.

Now, going back to the first paragraph and contemplate the meaning that the absolute value of any positive or negative integer is always positive.  Think about the absolute value of opposites.  




Is the value of | a |  and | -a |  the same?


Example:
| x |  =  5
so x can be either +5 or –5 since the absolute value of a number and its opposite are the same.

Now we need to give some consideration to | x | > #.  There is one special case and that is when x is greater than a negative number.




What values will make | x | greater than any negative number?


Example:
| x | > -2
this is all real numbers since no matter what number you put in the value is always ( zero

Now the | x | > the real numbers ( 0.  This requires you to give a little consideration to the numbers on the number line and the fact that as you go out in each direction the number are *getting larger in terms of their absolute value.  Also considered that in the negative direction as the numbers get larger in terms of their absolute value, they also get smaller in terms of their actual value, just as the positive numbers get larger.  This gives us a hint as to how to solve the equations | x | > #.  


Example:
| x |  >  5
since all positive numbers greater than 5 will make this true and all negative numbers less than –5 will make this true this is how we go about solving these problems.

Our last consideration is | x | < #, when that number is greater than zero.  Again let's consider the positive numbers and the negative numbers that will make it a true statement.  Positive numbers between zero and the number at hand will make a true statement.  Negative numbers between zero and the opposite of the number at hand will also make the statement true, with much the same reasoning that we had above (*).


Example:
| x |  <  5
since all positive numbers less than 5 will make this a true and all negative numbers greater than –5 will make this a true statement, this is how we go about solving these problems.

Summary of Solutions
When a is a positive number


| x | = a

x = a  
or  
x = -a


|x | < a

-a < x < a


(x is between the + and ( values of a)

| x | > a

x > a 
or 
x < -a

(you may have seen this expressed in the 

following way, but you will not see me express it this way as it is not a correct statement, although it gets the job done.
-a > x > a)
When a is a negative number


| x | = a


(

| x | < a


(

| x | > a


(
If a is zero we must be cautious of the endpoints!


| x | > 0


{x | x ( (, x ( 0}*


| x | ( 0


(

| x | < 0


(

| x | ( 0


x = 0*

*x can be any algebraic expression and therefore you may have to solve to find the value of the variable!!

Solving an Absolute Value Equation

1)  Get into | x |  >  a or   | x | < a   form by using addition/ multiplication properties

2)  Set up appropriately to remove the absolute values


a)  If  | x | < a

-a < x < a


b)  If  | x | > a

x > a    or    x < -a

3)  Solve the resulting linear inequalities as usual

4)  Check your solution


Example:
Find the solution set of the following



a)
| x |  =  9



b)
| x |  =  -7



c)
| c  +  1 |  <  2



d)
| a  (  2 |  +  3  <  4



e)
| a  (  2 |  +  3  <  2

Note:  The absolute value can't be less than zero, so once you have completed step 1 of the process you know the answer.


f)
   a  +  3       (  0
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Note:  The absolute value can't be less than zero so you are only finding a single number that makes this statement equal to zero!



g)
| c  +  3 |  >  9



h)
| d  (  3  |  (  2  >  4



i)
| e |  +  2  (  0

j)
| 4  (  2y |  (  0

Note:  The absolute value is always greater than zero so you don't have to do anything to answer that the solution is all real numbers.



k)
| 16a  (  4 |  >  0

Note:  The endpoint is not included, so every real number except where 16a ( 4 = 0 will be the solution!
Absolute Value Equals Absolute Value
In this case the value of one side equals both the positive and negative values of the other side.  This too can be reasoned through by thinking about what it means for | x | = | y |.  It means that whatever the value of x the value of y must also be the same, regardless of direction from zero, thus  x = y  or  x = -y.


Example:
| 3r  +  2 |  =  | r  (  3 |

I would like to show you an example now that will prove that you always need to check your answers.  Never assume your answer is correct or valid, CHECK!!

Example:
#112 p. 140

Note:  Neither answer produces a true statement when check and therefore there is no ( solution!

Ch. 2 Review
Degree of Term #1-3 from Ch.2 Review p. 141-144

Definition – The sum of the exponents of a term.


Recall that the degree of a constant is 0 and degree of variable without exp. is 1

Simplifying Algebraic Expressions #4-7

Combine like terms by adding numeric coefficients


NEVER solve

Like terms are terms with variable portions that are the same.

Numeric coefficient is a number multiplied by a variable.

A term can be found by looking for the addition/subtraction signs


Example:
2x  (  3(x + 3)  +  1/3 x        has 3 terms; each is underlined

Solving Algebraic Equations #10-14

Creating an equivalent equation to the original through the following process:



Simplify each side of the equation using distributive prop. and/or combining like terms



Move constants to one side and variables to other using addition property of equality



Remove numeric coefficient by using the multiplication property of equality

Clearing equations of fractions or decimals



Multiplying every term in the entire equation by a number to remove fractions or decimal




Use LCD for fractions & Factor of 10 with same # of zeros as largest decimal for decimals

Conditional, Contradiction & Identity



Conditional gives one solution



Contradiction gives a false statement & the solution is {}



Identity gives a true statement & the solution is (

Solving for one variable when many are present



Highlight the variable you are solving for



What is added or subtracted from it?  Use the addition property to move that to other side



What is multiplied by it?  Use the multiplication property to remove coefficient

Word Problems #29-32,45,#35,36,39,46, #28,38, #33,44,#41#34,37,42

Linear Equation Problems


  
Starting cost is known (b)

Total Price is usually a given (c)

Additional cost based upon a # of units is known (a)

# of units is unknown (x)

Equation looks like   ax  +  b  =  c  (See letters above for explanation)


Geometry Problems



Based upon geometry formulas for perimeter



Supplementary Angles (180() & Complementary Angles (90()



Sum of angles in a triangle (180()

% Decrease/Increase


Original Price is always the unknown & Final price is given



Percent of increase or decrease is %(in decimal) times original price



Equation always looks like
OP  ( %OP  =  Final Price


Investments



See a mixture problem setup, but with 4 columns for PR&T equals I

Distance/Work Problems



Find the question & that will tell you the unknown (the variable)



Find the relationship & this will give the equation



D = rt  & W = rt
Mixture Problems



Make a table whose columns represent #of units (Total amt. Sol.), $ per unit (or % of), 

     Total cost (total amount of pure).

The rows represent the things being mixed & the new mixture and are multiplied across

The first and last columns form sums, the first involves a variable &

     the last gives the equation

The first column has x amount + y amount adding to give the new amount so if the new amount is known x + y = #  so x is a variable and y is (# - x)

Solving Inequalities #47-54 and #59-68 and #55-58

Graphing



Endpoints – Solid dot for inclusion (( or () & Open for not included (< or >)

With a line between endpoints

Interval Notation



( or ) means not included while [ or ] means included



read left to right and represents exactly as graph on number line endpt. to endpt.



-( and ( show same thing as a line with an arrow & are always used with ( or )


Simple Inequalities  (x > #)



Solve just like linear equation except when multiplying or dividing by negative 

reverse sense of inequality when mult./divide by negative  (< is >  / > is <)


Compound Inequalities (#1 < x < #2)



This is intersection of x > #1 and x < #2



Solve as 2 problems or using short cut




Short cut is:  What you do to the middle you do to the left and right 




Don't forget to reverse sense of inequality any time mult. or divide by negative!

Word Problems



Set up like any word problems, but cautious on inequality symbol



At most, maximum, less than or equal to are all (


At least, minimum, greater than or equal to are all (
Absolute Value Problems #80-85 

Type

For #'s a

Solutions



|x| = a

  a > 0


  x = (a


|x| = a

  a = 0


  x = 0


|x| = a

  a < 0


    (

   (absolute can't be less than zero)

|x| ( a (or >)
  a > 0


 x ( a  or  x ( a   (If strict inequality endpt. not included)


|x| ( a

  a = 0


    (

   (absolute always greater than zero)

|x| > a

  a = 0


    ( except 0
   *(absolute always greater than zero)
|x| ( a  (or >)
  a < 0


    (

   (absolute always greater than negative #)
|x| ( a
(or <)
  a > 0


  -a ( x ( a
   (If strict inequality endpt. not included)

|x| ( a

  a = 0


   x = 0

   **(abs. can't be < zero; can be zero)


|x| < a

  a = 0


     (

   (absolute can't be less than zero)


|x| ( a

  a < 0


     (

   (absolute can't be less than zero)

* - When | x ( c | the exception becomes whatever c is

** - When | x ( c | the solution becomes x = c

Don't try to memorize, try to understand why the answer is what it is based upon the definition of an absolute value!!


Set Builder Notation


Interval Notation
[ or ] included, ( or ) not included, 
5





0





(





-2





]





0





5








-1





(





]





Very generally spoken!!  For more detail see above.
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